

Board of County Commissioners Agenda Request

7A

Agenda Item #

Requested Meeting Date: 11-12-19

Title of Item: Award Contract No. 20198

✓ REGULAR AGENDA	Action Requested:	Direction Requested
CONSENT AGENDA	Approve/Deny Motion	Discussion Item
INFORMATION ONLY	Adopt Resolution (attach dra *provide	aft) Hold Public Hearing* copy of hearing notice that was published
Submitted by: John Welle		Department: Highway Department
Presenter (Name and Title): John Welle, Aitkin County Engineer		Estimated Time Needed: 10 minutes
and aggregate base on 3.3 miles of CS As shown on the attached abstract of I	SAH 25 in Wagner Township. bids, eight bids were received, with Ke	ch includes S.A.P. 001-625-001, grading ern & Tabery Inc., Wadena, MN submitting timated at \$1,602,894.25, the low bid was
13.1 070 0701 tilo ostimizion cost.		
Alternatives, Options, Effects or	n Others/Comments:	
Recommended Action/Motion: Recommend award of project to Kern	& Tabery	
Financial Impact: Is there a cost associated with this	s request? Yes	□ No
What is the total cost, with tax and Is this budgeted? ✓ Yes	The state of the s	61,855,752.80

CERTIFIED COPY OF RESOLUTION OF COUNTY BOARD OF AITKIN COUNTY, MINNESOTA

ADOPTED November 26, 2019

By Commissioner: xx

20191126-0xx

Award Contract No. 20198

WHEREAS, Contract No. 20198 is for construction of S.A.P 001-625-001, and

WHEREAS, sealed bids were opened for this project at 2:00 p.m. on Monday, October 28, 2019 with a total of eight bids received, and

WHEREAS, Kern & Tabery, Inc., Wadena, MN was the lowest responsible bidder in the amount of \$1,855,722.80.

THEREFORE, BE IT RESOLVED, that Kern & Tabery, Inc. is awarded Contract No. 20198.

BE IT FURTHER RESOLVED, that the chairperson of the Aitkin County Board and the Aitkin County Administrator are hereby authorized and directed to enter into a contract on behalf of Aitkin County with said low bidder upon presentation of proper contract documents.

Commissioner xx moved the adoption of the resolution and it was declared adopted upon the following vote

FIVE MEMBERS PRESENT

All Members Voting Yes

STATE OF MINNESOTA) COUNTY OF AITKIN)

I, Jessica Seibert, County Administrator, Aitkin County, Minnesota do hereby certify that I have compared the foregoing with the original resolution filed in the Administration Office of Aitkin County in Aitkin, Minnesota as stated in the minutes of the proceedings of said Board on the 26th day of November, 2019, and that the same is a true and correct copy of the whole thereof.

Witness my hand and seal this 26th day of November 2019

Jessica Seibert County Administrator

Aitkin County Project Bid Abstract

Project Name: Grading and Aggregate Base - CSAH 25
Project No.: SAP 001-625-001

Contract No.: 20198

Bid Opening:

10/28/2019 at 2:00 PM

Client: Owner: Aitkin County Aitkin, Minnesota

	Project: SAP 001-625-001 - Grading and Aggregate Base - CSAH 25			Engineers Estin	nate	Kern & Tabery I	nc - Wadena, MN	R.C. Habeck Excavating, LLC - Wahkon, MN		KGM - Angora, MN		Midwest Contracting, LLC - Marshall, MN	
Line No.	ltem	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	2021.501 MOBILIZATION	LS	1	\$47,000.00	\$47,000.00	\$128,538.00	\$128,538.00	\$40,000.00	\$40,000.00	\$93,000.00	\$93,000.00	\$148,000.00	\$148,000.00
2	2051.501 MAINT & RESTORATION OF HAUL ROADS	LS	1	\$1,000.00	\$1,000.00	\$1.00	\$1.00	\$50.00	\$50.00	\$1,300.00	\$1,300.00	\$1.00	
3	2101.501 CLEARING & GRUBBING	LS	1	\$75,000.00	\$75,000.00	\$78,750.00	\$78,750.00	\$90,000.00	\$90,000.00	\$80,000.00	\$80,000.00	\$100,000.00	
4	2104.502 SALVAGE SIGN	EACH	39	\$30,00	\$1,170,00	\$40.00	\$1,560.00	\$50.00	\$1,950.00	\$42.00	\$1,638.00	\$50.00	
5	2104.503 REMOVE PIPE CULVERTS	LF	839	\$14.00	\$11,746.00	\$7.00	\$5,873.00	\$10.00	\$8,390.00	\$10.00	\$8,390.00	\$17.00	
6	2105.504 GEOTEXTILE FABRIC TYPE 5	SY	30670	\$2.00	\$61,340.00	\$2.50	\$76,675.00	\$1.70	\$52,139.00	\$2.00	\$61,340.00	\$1.50	\$46,005.00
7	2105.507 COMMON EXCAVATION (P)	CY	94385	\$4.00	\$377,540.00	\$5.00	\$471,925.00	\$4.60	\$434,171.00	\$3.95	\$372,820.75	\$5.25	\$495,521.25
8	2105.507 MUCK EXCAVATION	CY	2882	\$7.00	\$20,174.00	\$5.00	\$14,410.00	\$7.00	\$20,174.00	\$12.00	\$34,584.00	\$7.85	\$22,623.70
9	2105.507 CHANNEL AND POND EXCAVATION (P)	CY	1024	\$7.00	\$7,168.00	\$10.00	\$10,240.00	\$7.00	\$7,168.00	\$12.00	\$12,288.00	\$10.00	\$10,240.00
10	2105.507 GRANULAR BORROW (EV)	CY	48775	\$7.00	\$341,425.00	\$8.36	\$407,759.00	\$8.75	\$426,781.25	\$13.25	\$646,268.75	\$11.05	\$538,963.75
11	2105.507 SELECT GRANULAR BORROW (LV)	CY	277	\$15.00	\$4,155.00	\$25.00	\$6,925.00	\$10.00	\$2,770.00	\$25.00	\$6,925.00	\$26.00	\$7,202.00
12	2105.607 HAUL & STOCKPILE EXCESS MATERIAL	CY	4000	\$4.00	\$16,000.00	\$5.00	\$20,000.00	\$5.00	\$20,000.00	\$5.00	\$20,000.00	\$6.00	\$24,000.00
13	2118.507 AGGREGATE SURFACING (LV), CLASS 5	CY	1594	\$15.00	\$23,910.00	\$15.00	\$23,910.00	\$24.00	\$38,256.00	\$16.00	\$25,504.00	\$15.00	\$23,910.00
14	2123.51 DOZER	HOUR	20	\$180.00	\$3,600.00	\$150.00	\$3,000.00	\$150.00	\$3,000.00	\$175.00	\$3,500.00	\$200.00	
15		CY	16881	\$19.00	\$320,739.00	\$20.66	\$348,761.46	\$28.50	\$481,108.50	\$22.25	\$375,602.25	\$21.00	\$354,501.00
16	2451.507 COARSE AGGREGATE BEDDING (CV)	CY	152	\$50.00	\$7,600.00	\$42.00	\$6,384.00	\$50.00	\$7,600.00	\$40.00	\$6,080.00	\$69.00	\$10,488.00
17	2501.502 15" GS PIPE APRON	EACH	62	\$160.00	\$9,920.00	\$132.75	\$8,230.50	\$175.00	\$10,850.00	\$235.00	\$14,570.00	\$150.00	\$9,300.00
18	2501.502 18" GS PIPE APRON	EACH	10	\$180.00	\$1,800.00	\$172.68	\$1,726.80	\$190.00	\$1,900.00	\$250.00	\$2,500.00	\$200.00	\$2,000.00
19	2501.502 18" RC PIPE APRON	EACH	26	\$550.00	\$14,300.00	\$585.37	\$15,219.62	\$775.00	\$20,150.00	\$845.00	\$21,970.00	\$950.00	\$24,700.00
20	2501.502 24" RC PIPE APRON	EACH	2	\$800.00	\$1,600.00	\$678.77	\$1,357.54	\$900.00	\$1,800.00	\$940.00	\$1,880.00	\$1,150.00	\$2,300.00
21	2501.503 15" CS PIPE CULVERT	LF	1412	\$35.00	\$49,420.00	\$23.34	\$32,956.08	\$26.00	\$36,712.00	\$39.00	\$55,068.00	\$26.00	\$36,712.00
22	2501.503 18" CS PIPE CULVERT	LF	248	\$45.00	\$11,160.00	\$26.39	\$6,544.72	531.00	\$7,688.00	\$51.00	\$12,648.00	\$30.00	\$7,440.00
23	2501.503 18" RC PIPE CULVERT DES 3006	LF	776	\$75.00	\$58,200.00	\$73.00	\$56,648.00	\$113.50	\$88,076.00	\$80.00	\$62,080.00	\$88.00	\$68,288.00
24	2501.503 24" RC PIPE CULVERT DES 3006	LF	68	\$90.00	\$6,120.00	\$76.00	\$5,168.00	\$126.50	\$8,602.00	\$99.00	\$6,732.00	\$98.00	\$6,664.00
25	2501 602 OUTLET STRUCTURE	EACH	1	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$1,250.00	\$1,250.00	\$1,485.00	\$1,485.00
26	2502,503 4" PE PIPE DRAIN	LF	60	\$10.00	\$600.00	\$10.00	\$600.00	\$10.00	\$600.00	\$7.50	\$450.00	\$24.00	\$1,440.00
27	2502.503 6" PE PIPE DRAIN	LF	90.	\$15.00	\$1,350.00	\$10.00	\$900.00	\$15.00	\$1,350.00	\$11.00	\$990.00	\$26.00	\$2,340.00
28	2502.503 4" PERF PE PIPE DRAIN	LF	355	\$10.00	\$3,550.00	\$10.00	\$3,550.00	\$10.00	\$3,550.00	\$10.50	\$3,727.50	\$25.00	\$8,875.00
29	2511.507 RANDOM RIPRAP CLASS III	CY	119	\$80.00	\$9,520.00	\$75.00	\$8,925.00	\$60.00	\$7,140.00	\$75.00	\$8,925.00	\$85.00	\$10,115.00
30	2540.602 MAIL BOX SUPPORT	EACH	14	\$120.00	\$1,680.00	\$120.00	\$1,680.00	\$135.00	\$1,890.00	\$126.00	\$1,764.00	\$125.00	\$1,750.00

	Project: SAP 001-625-001 - Grading and Aggregate Base - CSAH 25				Engineers Estimate		22220		R.C. Habeck Excavating, LLC - Wahkon, MN		KGM - Angora, MN		Midwest Contracting, LLC - Marshall, MN	
Line No.	ltem .	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
31	2563.601 TRAFFIC CONTROL	LS	1	\$10,000.00	\$10,000.00	\$2,800.00	\$2,800.00	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00	\$5,000.00	\$5,000.00	
32	2564.518 SIGN PANELS TYPE C	S F	174	\$34.00	\$5,916.00	\$42.00	\$7,308.00	\$45.00	\$7,830.00	544.10	\$7,673.40	\$45.00	\$7,830.00	
33	2564.602 INSTALL SIGN	EACH	18	\$150.00	\$2,700.00	\$100.00	\$1,800.00	\$110.00	\$1,980.00	\$105.00	\$1,890.00	\$100.00	\$1,800,00	
34	2573.503 SILT FENCE, TYPE HI	LF	9595	\$2.25	\$21,588.75	\$2.69	\$25,810.55	\$2.80	\$26,866.00	\$2.82	\$27,057.90	\$3.00	\$28,785,00	
35	2573.503 FLOTATION SILT CURTAIN TYPE STILL WATER	L F	185	\$15.00	\$2,775.00	\$13,00	\$2,405.00	\$20.00	\$3,700.00	\$14.00	\$2,590.00	\$13.00	\$2,405.00	
36	2573,503 SEDIMENT CONTROL LOG TYPE STRAW	ĹF	625	\$2.50	\$1,562.50	\$2.97	\$1,856.25	\$2,80	\$1,750.00	\$3.12	\$1,950.00	\$3.00	\$1,875.00	
37	2574.508 FERTILIZER TYPE 3	LB	11760	\$0.80	\$9,408,00	\$0.82	\$9,643.20	\$0.70	\$8,232.00	\$0.86	\$10,113.60	\$1.00	\$11,760.00	
38	2575,504 EROSION CONTROL BLANKETS CATEGORY 3N	5 Y	5619	\$1.50	\$8,428,50	\$1.59	\$8,934.21	\$1.80	\$10,114.20	\$1.67	\$9,383.73	\$2.00	\$11.238.00	
39	2575.505 SEEDING (P)	ACRE	33.6	\$300.00	\$10,080.00	\$189.00	\$6,350.40	\$500.00	\$16,800.00	\$200.00	\$6,720.00	\$180,00	\$6,048.00	
40	2575.505 DISK ANCHORING (P)	ACRE	33.6	\$180.00	\$6,048.00	\$69.00	\$2,318.40	\$70.00	\$2,352.00	\$72.50	\$2,436.00	\$65.00	\$2,184.00	
41	2575.508 SEED MIXTURE 25-141	LB	1983	\$3.50	\$6,940.50	\$4.29	\$8,507.07	\$3.90	\$7,733.70	\$4.50	\$8,923.50	\$4.00	\$7,932.00	
42	2575.509 MULCH MATERIAL TYPE 3	TON	68	\$250.00	\$17,000.00	\$169.00	\$11,492.00	\$160.00	\$10,880.00	\$180.00	\$12,240.00	\$170.00	\$11,560.00	
43	2575.523 RAPID STABILIZATION METHOD 3	MGAL	37.2	\$300.00	\$11,160.00	\$425.00	\$15,810.00	\$500,00	\$18,600.00	\$450.00	\$16,740.00	\$425.00	\$15,810.00	
_					e e									
	Totals for Project SAP 001-625-001				\$1,602,894.25		\$1,855,752.80		\$1,946,703.65		\$2,057,013.38		\$2,099,304,70	
	% of Estimate for Project SAP 001-625-001						15.78%		21.45%	L),	28.33%		30.97%	

	Project: SAF 25	2 001-625-001 - Grading and Aggregate Base - CSAH			Engineers Estir	mate	Peterson Companies Inc Chisago City, MN		Gladen Construction - Laporte, MN		Marvin Tretter, Inc - Pierz, MN		Ulland Brothers Cloquet, MN	Inc -
Line No.	item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	2021.501	MOBILIZATION	LS	1	\$47,000.00	\$47,000.00	\$98,054.00	\$98,054.00	\$90,000.00	\$90,000.00	\$75,000.00	\$75,000.00	\$144,969.65	\$144,969.65
7	2051.501	MAINT & RESTORATION OF HAUL ROADS	LS	1	\$1,000.00	\$1,000.00	\$24,600.00	\$24,600.00	\$100.00	\$100.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00
	2101.501	CLEARING & GRUBBING	LS	1.	\$75,000.00	\$75,000.00	\$69,000.00	\$69,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$152,690.00	\$152,690.00
4	2104.502	SALVAGE SIGN	EACH	39	\$30.00	\$1,170.00	\$40.00	\$1,560.00	\$41.00	\$1,599.00	\$75.00	\$2,925.00	\$40.00	\$1,560.00
5	2104.503	REMOVE PIPE CULVERTS	LF	839	\$14.00	\$11,746.00	\$15.16	\$12,719.24	\$18.00	\$15,102.00	\$12.00	\$10,068.00	\$16.00	\$13,424.00
- 6	2105.504	GEOTEXTILE FABRIC TYPE 5	SY	30670	\$2.00	\$61,340.00	\$1.62	\$49,685.40	\$2.50	\$76,675.00	\$2.25	\$69,007.50	\$2.25	\$69,007.50
7	2105.507	COMMON EXCAVATION (P)	CY	94385	\$4.00	\$377,540.00	\$7.01	\$661,638,85	\$3.85	\$363,382.25	\$6.00	\$566,310.00	\$10.00	
8	2105.507	MUCK EXCAVATION	CY	2882	\$7.00	\$20,174.00	\$4.80	\$13,833.60	\$7.50	\$21,615.00	\$9.00	\$25,938.00	\$18.00	
5	2105.507	CHANNEL AND POND EXCAVATION (P)	CY	1024	\$7.00	\$7,168.00	\$6.70	\$6,860.80	\$8.30	\$8,499.20	\$8.00	\$8,192.00	\$15.00	\$15,360.00
10	2105 507	GRANULAR BORROW (EV)	CY	48775	\$7.00	\$341,425.00	\$6.59	\$321,427.25	\$16.00	\$780,400.00	\$18.00	\$877,950.00	\$19.00	\$926,725.00
11	2105.507	SELECT GRANULAR BORROW (LV)	CY	277	\$15.00	\$4,155.00	\$22.93	\$6,351.61	\$16.00	\$4,432.00	\$25.00	\$6,925.00	\$42.00	\$11,634.00
12	2105.607	HAUL & STOCKPILE EXCESS MATERIAL	CY	4000	\$4.00	\$16,000.00	\$1.91	\$7,640.00	\$7.50	\$30,000.00	\$6.00	\$24,000.00	\$5.00	\$20,000.00
13	2118.507	AGGREGATE SURFACING (LV), CLASS 5	CY	1594	\$15.00	\$23,910.00	\$33,43	\$53,287.42	\$16.00	\$25,504.00	\$22.00	\$35,068.00	\$33.00	\$52,602.00
14	2123.51	DOZER	HOUR	20)	\$180.00	\$3,600.00	\$201.00	\$4,020.00	\$150.00	\$3,000.00	\$185.00	\$3,700.00	\$185.00	\$3,700.00
15	2211.507	AGGREGATE BASE (CV) CLASS 5	CY	16881	\$19.00	\$320,739.00	\$21.88	\$369,356.28	\$22.00	\$371,382.00	\$30.00	\$506,430.00	\$34.00	\$573,954.00

	Project: SAP 001-625-001 - Grading and Aggregate Base - CSAH 25			Engineers Esti	mate	Peterson Compa City, MN	anies Inc Chisago	Gladen Constr MN	ruction - Laporte,	Marvin Trette Pierz, MN	r, Inc -	Ulland Brothers Cloquet, MN	Inc -
Line No.	Item	Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
16	2451.507 COARSE AGGREGATE BEDDING (CV)	CY	152	\$50.00	\$7,600.00	\$25.48	\$3,872.96	\$52.00	\$7,904.00	\$50.00	\$7,600.00	\$80.00	\$12,160.00
17	2501.502 15" GS PIPE APRON	EACH	62	\$160.00	\$9,920.00	\$441.71	\$27,386.02	\$310.00	\$19,220.00	\$175.00	\$10,850.00	\$215.00	\$13,330.00
18	2501.502 18" GS PIPE APRON	EACH	10	\$180.00	\$1,800.00	\$456.68	\$4,566.80	\$350.00	\$3,500.00	\$225.00	\$2,250.00	\$280.00	\$2,800.00
19	2501.502 18" RC PIPE APRON	EACH	26	\$550,00	\$14,300,00	\$1,002.70	\$26,070,20	\$786.00	\$20,436.00	\$650.00	\$16,900.00	\$950.00	\$24,700.00
20	2501.502 24" RC PIPE APRON	EACH	2	\$800.00	\$1,600.00	\$1,119.09	\$2,238.18	\$904.00	\$1,808.00	\$750.00	\$1,500.00	\$1,175.00	\$2,350.00
21	2501.503 15" CS PIPE CULVERT	LF	1412	\$35.00	\$49,420.00	\$47.36	\$66,872.32	\$30.35	\$42,854.20	\$25.00	\$35,300.00	\$47.50	\$67,070.00
22	2501.503 18" CS PIPE CULVERT	LF	248	\$45.00	\$11,160.00	\$48.34	\$11,988.32	\$37.40	\$9,275.20	\$35.00	\$8,680.00	\$58.00	\$14,384.00
23	2501.503 18" RC PIPE CULVERT DES 3006	LF	776	\$75.00	\$58,200.00	\$180.96	\$140,424.96	\$60.05	\$46,598.80	\$57.00	\$44,232.00	\$130.00	\$100,880.00
24	2501.503 24" RC PIPE CULVERT DES 3006	LF	68	\$90.00	\$6,120.00	\$136.94	\$9,311.92	\$74.00	\$5,032.00	\$68.00	\$4,624.00	\$87.00	\$5,916.00
25	2501,602 OUTLET STRUCTURE	EACH	1	\$500.00	\$500.00	\$1,899.60	\$1,899.60	\$2,400.00	\$2,400.00	\$5,000.00	\$5,000,00	\$1,500.00	\$1,500.00
26	2502.503 4" PE PIPE DRAIN	LF	60	\$10.00	\$600.00	\$7.47	\$448.20	\$30.60	\$1,836.00	\$12.00	\$720.00	\$13.00	\$780.00
27	2502,503 6" PE PIPE DRAIN	LF	90	\$15.00	\$1,350,00	\$10.91	\$981.90	\$36.80	\$3,312.00	\$15.00	\$1,350.00	\$14.00	\$1,260.00
28	2502.503 4" PERF PE PIPE DRAIN	LF	355	\$10.00	\$3,550.00	\$6.60	\$2,343.00	\$26.85	\$9,531.75	\$12.00	\$4,260.00	\$6.50	\$2,307.50
29	2511.507 RANDOM RIPRAP CLASS III	CY	119	\$80.00	\$9,520.00	\$105.48	\$12,552.12	\$98.00	\$11,662.00	\$95.00	\$11,305.00	\$92.00	\$10,948.00
30	2540.602 MAIL BOX SUPPORT	EACH	14	\$120.00	\$1,680,00	\$120.00	\$1,680.00	\$121.00	\$1,694.00	\$200.00	\$2,800.00	\$120.00	\$1,680.00
31	2563.601 TRAFFIC CONTROL	LS	1	\$10,000.00	\$10,000.00	\$5,386.00	\$5,386.00	\$4,000.00	\$4,000.00	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00
32	2564.518 SIGN PANELS TYPE C	Ş F	174	\$34.00	\$5,916.00	\$42.00	\$7,308.00	\$42.50	\$7,395.00	\$80.00	\$13,920.00	\$42.00	\$7,308.00
33	2564.602 INSTALL SIGN	EACH	18	\$150.00	\$2,700.00	\$100.00	\$1,800.00	\$105.00	\$1,890.00	\$150.00	\$2,700.00	\$100.00	\$1,800.00
34	2573.503 SILT FENCE, TYPE HI	LF	9595	\$2.25	\$21,588.75	\$2.75	\$26,386.25	\$2.75	\$26,386.25	\$2.60	\$24,947.00	\$2,65	\$25,426.75
35	2573.503 FLOTATION SILT CURTAIN TYPE STILL WATER	LF	185	\$15.00	\$2,775.00	\$13.00	\$2,405.00	\$14.00	\$2,590.00	\$16.00	\$2,960.00	\$26.50	\$4,902.50
36	2573.503 SEDIMENT CONTROL LOG TYPE STRAW	LF	625	\$2.50	\$1,562.50	\$2.75	\$1,718.75	\$3.10	\$1,937.50	\$5.50	\$3,437.50	\$3.45	\$2,156.25
37	2574.508 FERTILIZER TYPE 3	LB	11760	\$0.80	\$9,408.00	\$0.50	\$5,880.00	\$0.85	\$9,996.00	\$0.85	\$9,996.00	\$0.75	\$8,820.00
38	2575.504 EROSION CONTROL BLANKETS CATEGORY 3N	5 Y	5619	\$1.50	\$8,428.50	\$1.30	\$7,304.70	\$1.75	\$9,833.25	\$2.00		\$1.65	\$9,271.35
39	2575.505 SEEDING (P)	ACRE	33.6	\$300.00	\$10,080.00	\$175.00	\$5,880.00	\$190,00	\$6,384.00	\$550.00		\$85.00	\$2,856.00
40	2575-505 DISK ANCHORING (P)	ACRE	33.6	\$180.00	\$6,048.00	\$75.00	\$2,520.00	\$75.00		\$275.00	\$9,240.00	\$85.00	\$2,856.00
41	2575 508 SEED MIXTURE 25-141	LB	1983	\$3.50	\$6,940.50	\$3.22	\$6,385.26	\$4.50	\$8,923.50	\$3.50	\$6,940.50	\$3.50	\$6,940.50
42	2575,509 MULCH MATERIAL TYPE 3	TON	68	\$250.00	\$17,000.00	\$210.00	\$14,280.00	\$175.00	\$11,900.00	\$300.00	\$20,400.00	\$515.00	\$35,020.00
43	2575.523 RAPID STABILIZATION METHOD 3	MGAL	37,2	\$300.00	\$11,150.00	\$450.00	\$16,740.00	\$425.00	\$15,810.00	\$300.00	\$11,160.00	\$650.00	\$24,180.00
-	Totals for Project SAP 001-625-001				\$1,602,894.25		\$2,116,664.91		\$2,163,319.90		\$2,590,303.50		\$3,383,455.00
	% of Estimate for Project SAP 001-625-001						32.05%		34.96%		61.60%		111.08%

I hereby certify that this is an exact reproduction of bids received.

ertified By: 44m Malle Licens

Date: 11-4-/19